p . P

(D)) [
'Round:Washer]Head|Screws]
Part # Size Description PKG TYPE PKG QTY SLEEVE | CASE QTY Weight / M UPC # WHSFIE:ECS;LE
F63512 |8x1 LO-ROOT COMMERCIAL ZINC JAR 500 N/A N/A 5.15 62591263512 7.20/ EA
F63513 |8x1 LO-ROOT COMMERCIAL ZINC BUCKET 2000 N/A N/A 5.15 62591263513 26.88 / EA
S D0
<7 &
Part # Size Description PKG TYPE PKG QTY SLEEVE CASE QTY Weight /M UPC # WHSFIE:ECS;LE
F44833 |6-32 HEX NUT DECIMAL PAK 100 500 5000 1.96 05999444833 0.72/C
F44834 |8-32 HEX NUT DECIMAL PAK 100 500 5000 2.58 05999444834 0.83/C
F44835 |10-24 HEX NUT DECIMAL PAK 100 500 5000 2.97 05999444835 0.90/C
F44839 |1/4-20 HEX NUT DECIMAL PAK 100 500 5000 6.00 05999444839 1.18/C
F44837 |[10-32 HEX NUT DECIMAL PAK 100 500 5000 3.00 05999444837 0.90/C
F12130 |1/2-13 ZINC PLATED HEX NUT PLASTIC BIN 100 N/A 1000 37.50 625912630161 10.60/C
F38160 |3/8-16 ZINC PLATED HEX NUT PLASTIC BIN 100 N/A 1000 16.00 625912630253 490/C
Part # Size Description PKG TYPE PKG QTY | SLEEVE CASE QTY Weight /M UPC # WHSIR_FCSEALE
F14114 |1/4IDx 11/4 0D FENDER WASHER JAR 100 N/A N/A 3.02 625912630215 461/C
F14100 |1/4 x 1 ZINC PLATED FENDER WASHER JAR 100 N/A 1,000 21.40 625912630208 3.45/C
F316114 |3/16 x 1 - 1/4 ZINC PLATED FENDER WASHER JAR 100 N/A 1,000 14.40 625912630222 425/C
F38114 |3/8 x 1 - 1/4 ZINC PLATED FENDER WASHER JAR 100 N/A 1,000 31.10 625912630277 475/C
FO623FW |#6 FLAT WASHER BLISTER PAK 100 N/A 1,000 0.94 625912630116 0.70/C
FO823FW |#8 FLAT WASHER BLISTER PAK 100 N/A 1,000 1.25 625912630123 0.85/C
F1023FW |#10 FLAT WASHER BLISTER PAK 100 N/A 1,000 2.50 625912630130 1.10/C
F1400FW |[1/4 ZINC PLATED FLAT WASHER JAR 100 N/A 1,000 6.20 625912630178 254/C
F3800FW |[3/8 ZINC PLATED FLAT WASHER JAR 100 N/A 1,000 13.40 625912630246 3.60/C
F1200FW |[1/2 ZINC PLATED FLAT WASHER JAR 100 N/A 1,000 30.80 625912630536 6.11/C
F1000LW [#10 ZINC SPLIT LOCKWASHER JAR 100 N/A 1,000 1.30 625912630291 140/C
F1400LW [1/4 ZINC PLATED SPLIT LOCKWASHER JAR 100 N/A 1,000 2.20 625912630185 150/C
F3800LW [3/8 ZINC PLATED SPLIT LOCKWASHER JAR 100 N/A 1,000 6.00 625912630239 3.20/C
F1200LW [1/2 ZINC PLATED SPLIT LOCKWASHER JAR 100 N/A 1,000 12.90 625912630154 450/C
F14201 |[1/4 - 20x1 GRADE 2 HEX HD BOLT JAR 100 N/A 1,000 22.60 625912630192 5.80/C
F381634 |3/8 - 16 x 3/4 GRADE 2 HEX HD BOLT JAR 100 N/A 1,000 38.00 625912630505 8.45/C
F38161 |3/8- 16 x 1 GRADE 2 HEX HD BOLT JAR 100 N/A 1,000 42.90 625912630260 8.96/C
F12131 |1/2- 13 x 1 GRADE 2 HEX HD BOLT JAR 100 N/A 1,000 62.90 625912630543 15.23/C
Part # Size Description PKG TYPE PKG QTY | SLEEVE CASE QTY Weight /M UPC # WHSIR_FCSEALE
F14381 |1/4-20 (3/8 X 1 HOLE) DROP-IN ANCHOR JAR 50 N/A N/A 2.33 625912630222 14.08 / PK
F38121 (3/8-16 (1/2 X 1 9/16 HOLE) DROP-IN ANCHOR JAR 50 N/A N/A 3.30 625912630239 18.56 / PK
F31678 |[3/16 x 7/8 NAIL-IN ANCHOR JAR 100 N/A 1,000 9.10 625912630406 794/C
F14111 |(1/4x 1 NAIL-IN ANCHOR JAR 100 N/A 1,000 18.70 625912630413 9.02/C
F6810L ([6-8x 1 LEAD ANCHOR JAR 100 N/A 1,000 14.70 625912630284 9.40/C
F101214 |10-12-14 x 3/4 LEAD ANCHOR JAR 100 N/A 1,000 18.80 625912630420 18.50/C
F6810 #6-8 x 1" White PLASTIC ANCHOR PLASTIC BIN 100 N/A 2,000 1.25 625912630024 150/C
F8101 #8-10 x 1 1/4" Blue PLASTIC ANCHOR PLASTIC BIN 100 N/A 2,000 2.00 625912630031 165/C
F10120 [#10-12 x 1" Green PLASTIC ANCHOR PLASTIC BIN 100 N/A 1,000 2.25 625912630437 2.08/C
F81316 [White, 8x1, 3/16 Carbide Bit PAN HEAD ANCHOR KIT JAR 100 N/A 1,000 8.50 625912630444 416/C
F10114 (Blue, 10x1, 1/4 Carbide Bit PAN HEAD ANCHOR KIT JAR 100 N/A 1,000 9.50 625912630451 448/C

Call to order:

1-888-939-9991

RACK-A-TIERS Mfg. Inc.

Box 24010

Royal Oak RPO
Victoria, BC V8Z 7E7
sales@rack-a-tiers.com

www.rack-a-tiers.com

Send your orders to:
orders@rack-a-tiers.com
Fax: 1-250-479-1489




